CHAPTER 13 REVIEW ANSWERS
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4. (a) Velocity of an Object
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(b) 1.8 m/s (c) 0.43 m/s%; (d) 1.3 m/s?
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5.(a) 10 m/s up; 0 m/s; 10 m/s down
() In each case, ; = 7, + @, Ar. Up is defined to be positive.
For 1's, 7 = 20 m/s + (~9.8m/s?)(1.0s) = +10 m/s or 10 m/s up.
For 25, 7 = 20 m/s + (—9.8m/)(2.05) = 0 m/s.
For 35, = 20 m/s + (=9.8 /(3.0 5) = —10 m/s or 10 m/s down.
{e) The ball is ac its highest point at 2.0 s. The acceleration of the ball at this point is —9.8 m/s2.

(d) No.

Use What You've Learned—Suggested Answers
6. B 7. B 8. B 9. D

10. Velocity-Time Graph Position-Time Graph
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11. Average velocity is the velocity over a time interval. Instantancous velocity is the velocity at a specific
moment in time.

12. displacement, average acceleration, and instantancous acceleration

Think Critically—Suggested Answers

13. The mass of a moving object and the object’s cross-section, o shape, affect its terminal velocity. The
medium through which the object falls also affects its terminal velocity. An experiment might include
using a sonar ranger to measure the falling velocity over time for two objects that have the same mass
bue different cross-sections.
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14. (a) Noj the velocity graph is not a straight line. (b) about 0.2 m/s down; (¢) between about 0 and 0.05 s;
(d) at about 0.28 s, because that’s when the ball’s velocity is zero




